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CONSUMER EQUILIBRIUM -INDIEFERENCE CURVE
5 ANALVSIS <~ j

/ Also known as Ordinal

=+ Indifference Curve (1C):

o 1O s 8 curve showing combination of two

& é commadities which give equal level of | A
i -
5 satisfaction to consumers. ¥ S

ALl X il ) » Tn IC analysis, we do not cxpress llll]lll
Good & terms of cardinal numbers (g 1, 2, 3)

ve compare UGHTY a5 cqual, less

or more’ in different situations.

Fach point on 1€ ofters same level of

> satisfaction to the consumers. That's why
this curve 18 known as INDIFFERENCE

< CLRYE.

% Monotonie Preferences: Consumer’s preferences are called monotonic
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Features of Indl[l"cmlcc Curve (IC):
p( el
? i . 1C is convex to origl origin {because
MRS tends to decline).

The slope of indiftference curve
shows MRS
> Higher IC indicales higher Tevel

o_hal;sm_ﬂon_. [ x commediyx S}Zﬁ_/
=] le don’t intersect each uther,

MR‘"\ shows the amount oj (“ood ‘r’fthqt the
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2 Tlis a sitsation where a consumer is spending his income in such a
wiry Lhal he 1s reiing maximum satisfactlion,

CE is achieved when Bu

CE is achieved when

Consmmer Equilibrinm
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